Y4 — Spring — Block 4 — Step 10 — Divide a 1- or 2-digit number by 100 Answers

Answer

Tenths Hundredths
Tenths Hundredths

000

Q000
Tenths Hundredths
0000
0000

e) 0.8+10=0.08
f) 8+100=8-+10-+10
= 0.08

To divide by 100, you move the counters 2 places to the right.

a) Tiny has only moved the 8 counters in the ones column to the right. Tiny also needs
to move the counters in the tens column to the right.
b) 48 ~ 100 =10.48

a) Move the counters 2 rows down.
b) 0.92
c) 0.19

a) 0.31
b) 0.6
c) 0.85
d 1

e) 0.29
f) 58
g) 40
h) 100




Y4 — Spring — Block 4 — Step 10 — Divide a 1- or 2-digit number by 100 Answers (continued)

Question Answer

Yes
7 10 X 10 = 100, so dividing by 100 is the same as dividing by 10 twice.

results of children’s dice rolls
0.66
0.11
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